Ko | Ich T s A E AN E O,

BRSOV TIREEICTET0sRE, [ D | 2wy, D HER
Ziloize =N A NO N RATE R 2B

DIEDFC, 7 RS AIR LIRS I b ST 31885 L

L5, @ R
L BEO[ @ | 0rbThotbEebonzotn[ @ | Ths,

@ REK

RORDRMEES £ Lo CHEIC LA X,  FSEH: XCFoHs»5HLETH5IH

(1) 7z 4+3y—y— 6z (2) 3x% — 3z + bz — 2? (3) 5a+3b+2a
=Tz —6z +3y—y = 322 — 22 — 3z 4 52 = 5a+2a +3b
=z +2% — 222 4+ 2% = Ta +3b

(4) +z+1yt+z—3y X 202 & 2 I ERENE DT, BB LITTEARL,
= 1T+ +3Y— 3y
=3z —y

RONEDEZNBS E915 [ ier, — B TEDARI,

(1) 3x|@|2y|@|6x|@|4y273x+2y (2) a2|@|4a|@|4a2|@|2a:5a276a
3,7:6:0:—333 @— ot24a2 = 5a2 @—l—
(D]%[@]w=20 D, [(@]4a[®]20 =-6a @, &~

ROFEZ L7mE v,

ZIEROIREE, UL 5 DHIFEROFAT DFFEZE2TNZ 50

(1) (z+ 2y)+(4z — 3y) (2) (2z + 5y)—(3z — 2y) (3) (3a® —2a)—(4a® — 3a)
=z+2y+4r—3y =2z + 5y — 3z + 2y = 3a® — 2a — 4a®> + 3a
=xz+4r +2y—-3y =2z — 3z +5y+2y = 3a® —4a® —2a+3a
— bz —y = —x + 7Ty e,

= —a’® +ta



(1)

(1)

RD2ODR &L v, £, EOXDPLHEDOXEZDE LRI\,

2z + 3y , 4x + 5y (2) —2a+3b-1, —3a+2b+2
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